

# ON SPIRAL-LIKE FUNCTIONS OF ORDER $\alpha$ AND TYPE $\beta$

By

M. L. MOGRA and O. P. AHUJA\*

(Received January 23, 1981)

## 1. Introduction

A function  $f$  analytic in the open disk  $E = \{z \mid |z| < 1\}$  is said to be  $\lambda$ -spiral-like if  $f(0) = 0$ ,  $f'(0) = 1$ , and  $\operatorname{Re} \{e^{i\lambda} z f'(z)/f(z)\} > 0$  for some real  $\lambda$  ( $|\lambda| < \pi/2$ ). Let  $S^\lambda$  be the class of all such functions. It was shown by Špaček [10] that spiral-like functions are univalent in  $E$ . In recent years, such functions have been the source of useful and important counter-examples in geometric function theory [1, 4].

In [6], Libera introduced the notion of order  $\alpha$  ( $0 \leq \alpha < 1$ ) for  $\lambda$ -spiral-like functions in  $E$ . Motivated by [3], we, in the present paper, introduce the concept of 'type' for the class of  $\lambda$ -spiral-like functions of order  $\alpha$ .

A function  $f(z) = z + \sum_{n=2}^{\infty} a_n z^n$ , analytic in  $E$ , is a  $\lambda$ -spiral-like function of order  $\alpha$  and type  $\beta$ ,  $f \in S^\lambda(\alpha, \beta)$ , if and only if for all  $z \in E$ , the inequality

$$(1.1) \quad \left| \frac{z f'(z)/f(z) - 1}{2\beta(z f'(z)/f(z) - 1 + (1-\alpha)e^{-i\lambda} \cos \lambda) - (z f'(z)/f(z) - 1)} \right| < 1,$$

holds for some  $\alpha \in [0, 1)$ ,  $\beta \in (0, 1]$ , and  $\lambda \in (-\pi/2, \pi/2)$ . Since  $S^\lambda(\alpha, \beta) \subset S^\lambda$ , it follows that the functions in  $S^\lambda(\alpha, \beta)$  are univalent.

By specializing  $\alpha$ ,  $\beta$ , and  $\lambda$  we obtain several subclasses of univalent functions. For instance,  $S^\lambda(\alpha, 1) \equiv S^\lambda(\alpha)$ ;  $S^\lambda(0, (2 - \cos \lambda)/2) \equiv H(\lambda)$ ,  $|\lambda| < \pi/2$ ;  $S^\lambda(0, (2M - 1)/2M) \equiv F_{\lambda, M}$ ,  $M > 1/2$ ; and  $S^0(\alpha, \beta) \equiv S^*(\alpha, \beta)$  are the classes introduced and studied, respectively, by Libera [6], Goel [2], Kulshrestha [5], and Juneja and Mogra [3]. Further, replacement of  $\alpha$  by  $(1 - \beta + 2\alpha\beta)/(1 + \beta)$  and  $\beta$  by  $(1 + \beta)/2$  in the class  $S^\lambda(\alpha, \beta)$ , gives the class,  $S_{\alpha, \beta}^\lambda$ , defined by Maköwka [7].

Since our class  $S^\lambda(\alpha, \beta)$  includes various subclasses as noticed above, a study of its various properties will lead to a unified study of these subclasses. In the present paper, we shall give at first a representation formula for the class  $S^\lambda(\alpha, \beta)$ . We deal next with the distortion properties and coefficient bounds for a  $\lambda$ -spiral function of order  $\alpha$  and type  $\beta$ . Finally,  $\gamma$ -spiral radius is obtained for  $S^\lambda(\alpha, \beta)$ .

---

\* The research was partially supported by a research grant of Graduate College of University of Khartoum.

In particular, we deduce some results for the classes  $S^{\lambda}(\alpha)$ ,  $H(\lambda)$ ,  $F_{\lambda, M}$  and  $S_{\alpha, \beta}^{\lambda}$ ; the analogues of which have not been obtained by earlier authors.

## 2. A Representation for $S^{\lambda}(\alpha, \beta)$

Let  $A$  denote the class of functions  $\phi$  which are analytic in  $E$  and which satisfy  $|\phi(z)| \leq 1$  for all  $z$  in  $E$ . We first give the following lemma.

**Lemma.** *If a function  $H(z) = 1 + \sum_{n=1}^{\infty} c_n z^n$ , analytic in  $E$ , satisfies the condition*

$$(2.1) \quad |(H(z)-1)/\{2\beta(H(z)-1+(1-\alpha)e^{-i\lambda}\cos\lambda)-(H(z)-1)\}| < 1,$$

*for some  $\alpha \in [0, 1)$ ,  $\beta \in (0, 1]$ ,  $\lambda \in (-\pi/2, \pi/2)$ , and for all  $z \in E$ , then*

$$(2.2) \quad H(z) = \frac{1 + ((2\beta-1) - 2\beta(1-\alpha)e^{-i\lambda}\cos\lambda)z\phi(z)}{1 + (2\beta-1)z\phi(z)}$$

*for some  $\phi \in A$ . Conversely, a function  $H$  given by (2.2) for some  $\phi \in A$  is analytic in  $E$  and satisfies (2.1) for all  $z$  in  $E$ .*

**Proof.** The first half of the Lemma is obtained immediately by an application of Schwarz's Lemma; and the converse part follows from the observation that the function

$$w = \frac{1 + ((2\beta-1) - 2\beta(1-\alpha)e^{-i\lambda}\cos\lambda)z}{1 + (2\beta-1)z}$$

maps  $|z| < 1$  onto the disk

$$|(1-w)/\{2\beta((w-1)+(1-\alpha)e^{-i\lambda}\cos\lambda)-(w-1)\}| < 1$$

in the  $w$ -plane.

**Theorem 1.** *A function  $f(z) = z + \sum_{n=2}^{\infty} a_n z^n$ , analytic in  $E$ , is in the class  $S^{\lambda}(\alpha, \beta)$  if and only if*

$$(2.3) \quad f(z) = z \exp \left\{ -2\beta(1-\alpha)e^{-i\lambda}\cos\lambda \int_0^z \frac{\phi(t)dt}{1 + (2\beta-1)t\phi(t)} \right\},$$

*for some  $\phi \in A$ .*

**Proof.** First suppose  $f(z) \in S^{\lambda}(\alpha, \beta)$ . Noting that  $zf'(z)/f(z)$  satisfies the hypothesis of the first part of the Lemma, we see that

$$\frac{zf'(z)}{f(z)} = \frac{1 + ((2\beta-1) - 2\beta(1-\alpha)e^{-i\lambda}\cos\lambda)z\phi(z)}{1 + (2\beta-1)z\phi(z)}$$

for some  $\phi \in A$ . Thus we have

$$(2.4) \quad \frac{f'(z)}{f(z)} - \frac{1}{z} = \frac{-2\beta(1-\alpha)e^{-i\lambda} \cos \lambda \cdot \phi(z)}{1+(2\beta-1)z\phi(z)}.$$

An integration from 0 to  $z$  in (2.4) followed by an exponentiation leads to (2.3). Conversely, if (2.3) holds, then

$$\frac{zf'(z)}{f(z)} = \frac{1+((2\beta-1)-2\beta(1-\alpha)e^{-i\lambda} \cos \lambda)z\phi(z)}{1+(2\beta-1)z\phi(z)}.$$

Now the theorem follows by the converse part of the Lemma.

**Remarks.** (i) Putting  $\beta=1$ , we obtain a representation formula determined by Libera [6].

(ii) The representation formula determined by Juneja and Mogra [3] for starlike functions of order  $\alpha$  and type  $\beta$  can be obtained by putting  $\lambda=0$  in Theorem 1.

(iii)  $\alpha=0$  and  $\beta=(2-\cos \lambda)/2$  in Theorem 1 gives the result obtained by Goel [2].

(iv) Replacing  $\alpha$  by  $(1-\beta+2\alpha\beta)/(1+\beta)$  and  $\beta$  by  $(1+\beta)/2$  in Theorem 1, we get the corresponding result obtained by Makowska [7].

(v) By taking appropriate values of  $\alpha, \beta, \lambda$  in Theorem 1, we obtain the corresponding representation formulae for the functions of the classes introduced by Spacék [10], Kulshrestha [5], Padmanabhan [8], and many others.

### 3. A sufficient condition.

We now establish a sufficient condition for a function to be in  $S^2(\alpha, \beta)$ .

**Theorem 2.** Let  $f(z)=z+\sum_{n=2}^{\infty} a_n z^n$  be analytic in  $E$ . Then  $f(z) \in S^2(\alpha, \beta)$ , if for some  $\alpha \in [0, 1)$  and  $\lambda \in (-\pi/2, \pi/2)$ ,

$$(3.1) \quad \sum_{n=2}^{\infty} \{2n(1-\beta)-1+|(1-2\beta)+2\beta(1-\alpha)e^{-i\lambda} \cos \lambda|\} |a_n| \leq 2\beta(1-\alpha) \cos \lambda, \\ \text{whenever } \beta \in (0, 1/2],$$

$$(3.2) \quad \sum_{n=2}^{\infty} \{(n-1)+|(2\beta-1)(n-1)+2\beta(1-\alpha)e^{-i\lambda} \cos \lambda|\} |a_n| \leq 2\beta(1-\alpha) \cos \lambda, \\ \text{whenever } \beta \in [1/2, 1],$$

holds.

**Proof.** Let  $|z|=r<1$ . Noting that

$$(3.3) \quad |zf'(z)-f(z)| < \sum_{n=2}^{\infty} (n-1)|a_n|r,$$

and

$$(3.4) \quad |2\beta((zf'(z)-f(z))+(1-\alpha)e^{-i\lambda} \cos \lambda \cdot f(z))-(zf'(z)-f(z))| \\ \geq \{2\beta(1-\alpha) \cos \lambda - \sum_{n=2}^{\infty} (1-2\beta)n|a_n| - \sum_{n=2}^{\infty} |(1-2\beta)+2\beta(1-\alpha)e^{-i\lambda} \cos \lambda| |a_n|\},$$

we see that

$$|zf'(z)-f(z)| - |2\beta((zf'(z)-f(z))+(1-\alpha)e^{-i\lambda} \cos \lambda \cdot f(z))-(zf'(z)-f(z))| \\ \leq \sum_{n=2}^{\infty} \{2n(1-\beta)-1+|(1-2\beta)+2\beta(1-\alpha)e^{-i\lambda} \cos \lambda|\} |a_n| - 2\beta(1-\alpha) \cos \lambda,$$

provided  $0 < \beta \leq 1/2$ . The last quantity is  $\leq 0$  by (3.1), so that  $f(z) \in S^1(\alpha, \beta)$ . For the second part, we assume that (3.2) holds for  $\beta \in [1/2, 1]$ . In this case,

$$(3.5) \quad |2\beta((zf'(z)-f(z))+(1-\alpha)e^{-i\lambda} \cos \lambda \cdot f(z))-(zf'(z)-f(z))| \\ \geq \{2\beta(1-\alpha) \cos \lambda - \sum_{n=2}^{\infty} |(2\beta-1)(n-1)+2\beta(1-\alpha)e^{-i\lambda} \cos \lambda| |a_n|\} r.$$

Now the theorem follows, as before, from (3.3), (3.5) and (3.2).

**Corollary 1.** A function  $f(z)=z+\sum_{n=2}^{\infty} a_n z^n$ , analytic in  $E$ , is a  $\lambda$ -spiral-like function of order  $\alpha$  if

$$\sum_{n=2}^{\infty} \{(n-1)+|(n-1)+2(1-\alpha)e^{-i\lambda} \cos \lambda|\} |a_n| \leq 2(1-\alpha) \cos \lambda,$$

for some  $\alpha \in [0, 1)$ ,  $\lambda \in (-\pi/2, \pi/2)$ .

**Corollary 2.** A function  $f(z)=z+\sum_{n=2}^{\infty} a_n z^n$ , analytic in  $E$ , is in the class  $H(\lambda)$  if

$$\sum_{n=2}^{\infty} \{(n-1)+|(1-\cos \lambda)(n-1)+(2-\cos \lambda)e^{-i\lambda} \cos \lambda|\} |a_n| \leq (2-\cos \lambda) \cos \lambda,$$

for some  $\lambda \in (-\pi/2, \pi/2)$ .

**Corollary 3.** A function  $f(z)=z+\sum_{n=2}^{\infty} a_n z^n$ , analytic in  $E$ , is in the class  $F_{\lambda, M}$  if for some  $\lambda \in (-\pi/2, \pi/2)$ ,

$$\sum_{n=2}^{\infty} \{(n-M)+\sqrt{(1-M)^2+(2M-1)\cos^2 \lambda}\} |a_n| \leq (2M-1) \cos \lambda,$$

whenever  $1/2 < M \leq 1$ ,

$$\sum_{n=2}^{\infty} \{(n-1)M+|(M-1)(n-1)+(2M-1)e^{-i\lambda} \cos \lambda|\} |a_n| \leq (2M-1) \cos \lambda,$$

whenever  $M \geq 1$ ,

holds.

**Remarks.** (i) For  $\lambda=0$  in Theorem 2, we obtain the sufficient condition determined by Juneja and Mogra [3].

(ii) Replacing  $\alpha$  by  $(1-\beta+2\alpha\beta)/(1+\beta)$ ,  $\beta$  by  $(1+\beta)/2$  in Theorem 2 we obtain the corresponding sufficient condition for a function  $f(z)$  to be in the class introduced by Makowska [7].

(iii) By fixing the parameters  $\alpha$ ,  $\beta$ , and  $\lambda$  in Theorem 2, we can obtain sufficient conditions for a function to be in the classes introduced by Padmanabhan [8], Wright [11], and others.

#### 4. Distortion Theorems

**Theorem 3.** Let  $f(z)=z+\sum_{n=2}^{\infty} a_n z^n$  be analytic in  $E$ . If  $f(z) \in S^1(\alpha, \beta)$ , then for  $|z|=r$ ,  $0 < r < 1$ , and for all  $\alpha \in [0, 1)$ ,  $\beta \in (0, 1/2) \cup (1/2, 1]$ ,  $\lambda \in (-\pi/2, \pi/2)$ ,

$$(4.1) \quad |f(z)| \leq r \left[ \frac{(1+(2\beta-1)r)^{(1-\cos \lambda)}}{(1-(2\beta-1)r)^{(1+\cos \lambda)}} \right]^{\beta(1-\alpha)\cos \lambda / (2\beta-1)},$$

and

$$(4.2) \quad |f(z)| \geq r \left[ \frac{(1-(2\beta-1)r)^{(1-\cos \lambda)}}{(1+(2\beta-1)r)^{(1+\cos \lambda)}} \right]^{\beta(1-\alpha)\cos \lambda / (2\beta-1)};$$

whereas for  $\alpha \in [0, 1)$ ,  $\beta=1/2$ ,  $\lambda \in (-\pi/2, \pi/2)$ ,

$$(4.3) \quad |f(z)| \leq r \exp((1-\alpha)\cos \lambda \cdot r),$$

and

$$(4.4) \quad |f(z)| \geq r \exp(-(1-\alpha)\cos \lambda \cdot r).$$

All these estimates are sharp for all admissible values of  $\alpha$ ,  $\beta$ ,  $\lambda$ .

**Proof.** Since  $f(z) \in S^1(\alpha, \beta)$ , the condition (1.1) coupled with an application of Schwarz's Lemma, implies  $|zf'(z)/f(z) - \xi| < R$ , where

$$\xi = \frac{1-(2\beta-1)((2\beta-1)-2\beta(1-\alpha)\cos^2 \lambda)r^2 - i\beta(2\beta-1)(1-\alpha)\sin 2\lambda \cdot r^2}{1-(2\beta-1)^2 r^2},$$

and

$$R = \frac{2\beta(1-\alpha)\cos \lambda \cdot r}{1-(2\beta-1)^2 r^2}, \quad (|z|=r).$$

Hence we have

$$(4.5) \quad \frac{1-2\beta(1-\alpha)\cos \lambda \cdot r + (2\beta-1)(2\beta(1-\alpha)\cos^2 \lambda - (2\beta-1))r^2}{1-(2\beta-1)^2 r^2} \leq \operatorname{Re} \left( \frac{zf'(z)}{f(z)} \right) \leq \frac{1+2\beta(1-\alpha)\cos \lambda \cdot r + (2\beta-1)(2\beta(1-\alpha)\cos^2 \lambda - (2\beta-1))r^2}{1-(2\beta-1)^2 r^2}.$$

Noting

$$\log \left( \left| \frac{f(z)}{z} \right| \right) = \operatorname{Re} \int_0^z \left( \frac{f'(s)}{f(s)} - \frac{1}{s} \right) ds = \int_0^r \frac{1}{t} \operatorname{Re} \left( t e^{i\theta} \frac{f'(te^{i\theta})}{f(te^{i\theta})} - 1 \right) dt,$$

and using (4.5), we see that

$$(4.6) \quad \log \left( \left| \frac{f(z)}{z} \right| \right) \leq 2\beta(1-\alpha) \cos \lambda \cdot \int_0^r \frac{1+(2\beta-1) \cos \lambda \cdot t}{1-(2\beta-1)^2 t^2} dt.$$

Now suppose  $\alpha \in [0, 1)$ ,  $\beta \in (0, 1/2) \cup (1/2, 1]$  and  $\lambda \in (-\pi/2, \pi/2)$ . Then from (4.6), we get

$$\log \left( \left| \frac{f(z)}{z} \right| \right) \leq \frac{\beta(1-\alpha) \cos \lambda}{2\beta-1} \log \left\{ \frac{(1+(2\beta-1)r)^{(1-\cos \lambda)}}{(1-(2\beta-1)r)^{(1+\cos \lambda)}} \right\},$$

which gives (4.1). For the case when  $\alpha \in [0, 1)$ ,  $\beta = 1/2$ , and  $\lambda \in (-\pi/2, \pi/2)$ , (4.6) immediately proves (4.3). In view of

$$\begin{aligned} \log \left( \left| \frac{f(z)}{z} \right| \right) &= \operatorname{Re} \left( \log \frac{f(z)}{z} \right) = \int_0^r \operatorname{Re} \left( \frac{\partial}{\partial t} \left( \log \frac{f(t)}{t} \right) \right) dt \\ &= \int_0^r \frac{1}{t} \operatorname{Re} \left( t \frac{f'(t)}{f(t)} - 1 \right) dt, \end{aligned}$$

and with the aid of (4.5) we may write

$$(4.7) \quad \log \left( \left| \frac{f(z)}{z} \right| \right) \geq -2\beta(1-\alpha) \cos \lambda \cdot \int_0^r \frac{1-(2\beta-1) \cos \lambda \cdot t}{1-(2\beta-1)^2 t^2} dt.$$

If  $\beta \neq 1/2$ , then carrying out the integration in (4.7), we obtain (4.2). Further, when  $\beta = 1/2$ , then we immediately get (4.4) from (4.7). The extremal function for all the inequalities is given by

$$(4.8) \quad f(z) = \begin{cases} z / \{ (1-(2\beta-1)e^{i\theta}z)^{2\beta(1-\alpha) \cos \lambda \cdot e^{-i\lambda/(2\beta-1)}} \}, & \beta \neq 1/2 \\ z \exp \{ (1-\alpha) \cos \lambda \cdot e^{i(\theta-\lambda)} z \}, & \beta = 1/2 \end{cases}$$

where  $0 \leq \alpha < 1$ ,  $-\pi/2 < \lambda < \pi/2$ ; and  $\theta$  ( $0 \leq \theta \leq 2\pi$ ) is determined by

$$\tan(\theta/2) = ((1-(2\beta-1)r)/(1+(2\beta-1)r)) \cot(\pi/2 - \lambda/2)$$

for the equality in (4.1) and (4.3), and by the equation

$$\tan(\theta/2) = ((1-(2\beta-1)r)/(1+(2\beta-1)r)) \cot(-\lambda/2)$$

for the equality in (4.2) and (4.4).

**Corollary 4.** If  $f(z) = z + \sum_{n=2}^{\infty} a_n z^n$ , analytic in  $E$ , is a  $\lambda$ -spiral-like function of order  $\alpha$ , then for  $|z| = r < 1$ ,

$$r \left[ \frac{(1-r)^{(1-\cos \lambda)}}{(1+r)^{(1+\cos \lambda)}} \right]^{(1-\alpha)\cos \lambda} \leq |f(z)| \leq r \left[ \frac{(1+r)^{(1-\cos \lambda)}}{(1-r)^{(1+\cos \lambda)}} \right]^{(1-\alpha)\cos \lambda}.$$

By choosing  $\alpha=0$  and  $\beta=(2M-1)/2M$  in Theorem 3, we get the following result.

**Corollary 5.** If  $f(z)=z+\sum_{n=2}^{\infty} a_n z^n$ , analytic in  $E$ , is in  $F_{\lambda, M}$ , then for  $|z|=r<1$ ,  $M>1/2$ , ( $M \neq 1$ )

$$r \left[ \frac{(1-((M-1)/M)r)^{(1-\cos \lambda)}}{(1+((M-1)/M)r)^{(1+\cos \lambda)}} \right]^{(2M-1)\cos \lambda/2(M-1)} \leq |f(z)| \leq r \left[ \frac{(1+((M-1)/M)r)^{(1-\cos \lambda)}}{(1-((M-1)/M)r)^{(1+\cos \lambda)}} \right]^{(2M-1)\cos \lambda/2(M-1)};$$

whereas for  $M=1$ ,

$$r \exp(-\cos \lambda \cdot r) \leq |f(z)| \leq r \exp(\cos \lambda \cdot r).$$

**Remarks.** (i) Taking  $\lambda=0$ , Theorem 3 coincides with the result of Juneja and Mogra [3].

(ii) Putting  $\alpha=0$ ,  $\beta=(2-\cos \lambda)/2$ ; and replacing  $\alpha$  by  $(1-\beta+2\alpha\beta)/(1+\beta)$ ,  $\beta$  by  $(1+\beta)/2$  in Theorem 3 we get, respectively, the distortion theorems obtained by Goel [2], and Makowska [7].

(iii) Different values of  $\alpha$ ,  $\beta$ , and  $\lambda$  in Theorem 3 lead to the corresponding distortion theorems for the respective classes defined by Padmanabhan [8], Wright [11] and others.

## 5. Coefficient Bounds

**Theorem 4.** Let  $f \in S^2(\alpha, \beta)$ , and  $f(z)=z+\sum_{n=2}^{\infty} a_n z^n$ ,  $z \in E$ .

(a) If  $\beta(1-\alpha)(2-\alpha) \cos^2 \lambda > (1-\beta)(1+(1-\alpha) \cos^2 \lambda)$ , let

$$N = \left[ \frac{\beta(1-\alpha)(2-\alpha) \cos^2 \lambda}{(1-\beta)(1+(1-\alpha) \cos^2 \lambda)} \right].$$

Then

$$(5.1) \quad |a_n| \leq \frac{1}{(n-1)!} \prod_{k=2}^n |(2\beta-1)(k-2) + 2\beta(1-\alpha)e^{-i\lambda} \cos \lambda|,$$

for  $n=2, 3, \dots, N+2$ ; and

$$(5.2) \quad |a_n| \leq \frac{1}{(N+1)!(n-1)!} \prod_{k=2}^{N+3} |(2\beta-1)(k-2) + 2\beta(1-\alpha)e^{-i\lambda} \cos \lambda|, \quad n > N+2.$$

(b) If  $\beta(1-\alpha)(2-\alpha) \cos^2 \lambda \leq (1-\beta)(1+(1-\alpha) \cos^2 \lambda)$ , then

$$(5.3) \quad |a_n| \leq \frac{2\beta(1-\alpha) \cos \lambda}{n-1}, \quad \text{for } n \geq 2.$$

The bounds in (5.1) and (5.3) are sharp for all admissible  $\alpha, \beta, \lambda$ , and for each  $n$ .

**Proof.** Since  $f \in S^{\lambda}(\alpha, \beta)$ , (2.3) gives

$$(5.4) \quad \frac{zf'(z)}{f(z)} = \frac{1 + ((2\beta-1) - 2\beta(1-\alpha)e^{-i\lambda} \cos \lambda)w(z)}{1 + (2\beta-1)w(z)},$$

where  $w(z) = z\phi(z)$  is analytic in  $E$  and satisfies the conditions  $w(0)=0$ , and  $|w(z)| < 1$  for  $z \in E$ . Now (5.4) may be written as

$$\{2\beta(1-\alpha)e^{-i\lambda} \cos \lambda \cdot z + \sum_{k=2}^{\infty} ((2\beta-1)(k-1) + 2\beta(1-\alpha)e^{-i\lambda} \cos \lambda)a_k z^k\}w(z) = \sum_{k=2}^{\infty} (1-k)a_k z^k,$$

which is equivalent to

$$\begin{aligned} & \{2\beta(1-\alpha)e^{-i\lambda} \cos \lambda \cdot z + \sum_{k=2}^{n-1} ((2\beta-1)(k-1) + 2\beta(1-\alpha)e^{-i\lambda} \cos \lambda)a_k z^k\}w(z) \\ & = \sum_{k=2}^n (1-k)a_k z^k + \sum_{k=n+1}^{\infty} b_k z^k, \end{aligned}$$

where  $\sum_{k=n+1}^{\infty} b_k z^k$  converges in  $E$ . Then, since  $|w(z)| < 1$ ,

$$(5.5) \quad \begin{aligned} & |2\beta(1-\alpha)e^{-i\lambda} \cos \lambda \cdot z + \sum_{k=2}^{n-1} ((2\beta-1)(k-1) + 2\beta(1-\alpha)e^{-i\lambda} \cos \lambda)a_k z^k| \\ & \geq |\sum_{k=2}^n (1-k)a_k z^k + \sum_{k=n+1}^{\infty} b_k z^k|. \end{aligned}$$

Writing  $z = re^{i\theta}$ ,  $r < 1$ , squaring both sides of (5.5), and then integrating, we get

$$\begin{aligned} & 4\beta^2(1-\alpha)^2 \cos^2 \lambda \cdot r^2 + \sum_{k=2}^{n-1} |(2\beta-1)(k-1) + 2\beta(1-\alpha)e^{-i\lambda} \cos \lambda|^2 |a_k|^2 r^{2k} \\ & \geq \sum_{k=2}^n (k-1)^2 |a_k|^2 r^{2k} + \sum_{k=n+1}^{\infty} |b_k|^2 r^{2k}. \end{aligned}$$

Let  $r \rightarrow 1$ , then on some simplification we obtain

$$(5.6) \quad \begin{aligned} (n-1)^2 |a_n|^2 & \leq 4\beta^2(1-\alpha)^2 \cos^2 \lambda \\ & + \sum_{k=2}^{n-1} \{|(2\beta-1)(k-1) + 2\beta(1-\alpha)e^{-i\lambda} \cos \lambda| - (k-1)^2\} |a_k|^2, \quad n \geq 2. \end{aligned}$$

Now there may be following two cases:

Let  $\beta(1-\alpha)(2-\alpha) \cos^2 \lambda \geq (1-\beta)(1+(1-\alpha) \cos^2 \lambda)$ . Suppose that  $n \leq N+2$ ; then for  $n=2$ , (5.6) gives

$$|a_2| \leq 2\beta(1-\alpha) \cos \lambda,$$



which proves (5.1) for  $n=2$ . We establish (5.1) for  $n \leq N+2$ , from (5.6), by mathematical induction.

Suppose (5.1) is valid for  $k=2, 3, \dots, n-1$ . Then it follows from (5.6),

$$\begin{aligned} (n-1)^2 |a_n|^2 &\leq 4\beta^2(1-\alpha)^2 \cos^2 \lambda \\ &\quad + \sum_{k=2}^{n-1} \left\{ |(2\beta-1)(k-1)+M|^2 - (k-1)^2 \right\} \frac{1}{((k-1)!)^2} \prod_{p=2}^k |(2\beta-1)(p-2)+M|^2 \\ &= \frac{1}{((n-2)!)^2} \prod_{k=2}^n |(2\beta-1)(k-2)+M|^2, \end{aligned}$$

where  $M=2\beta(1-\alpha)e^{-i\lambda} \cos \lambda$ . Thus we get

$$|a_n| \leq \frac{1}{(n-1)!} \prod_{k=2}^n |(2\beta-1)(k-2)+M|,$$

which completes the proof of (5.1).

Next, we suppose  $n > N+2$ . Then (5.6) gives

$$\begin{aligned} (n-1)^2 |a_n|^2 &\leq 4\beta^2(1-\alpha)^2 \cos^2 \lambda \\ &\quad + \sum_{k=2}^{N+2} \{ |(2\beta-1)(k-1)+M|^2 - (k-1)^2 \} |a_k|^2 \\ &\quad + \sum_{k=N+3}^{n-1} \{ |(2\beta-1)(k-1)+M|^2 - (k-1)^2 \} |a_k|^2 \\ &\leq 4\beta^2(1-\alpha)^2 \cos^2 \lambda + \sum_{k=2}^{N+2} \{ |(2\beta-1)(k-1)+M|^2 - (k-1)^2 \} |a_k|^2. \end{aligned}$$

On substituting upper estimates for  $a_2, a_3, \dots, a_{N+2}$  obtained above, and simplifying, we obtain (5.2).

(b) Let  $\beta(1-\alpha)(2-\alpha) \cos^2 \lambda \leq (1-\beta)(1+(1-\alpha) \cos^2 \lambda)$ , then it follows from (5.6)

$$(n-1)^2 |a_n|^2 \leq 4\beta^2(1-\alpha)^2 \cos^2 \lambda, \quad (n \geq 2)$$

which proves (5.3).

The bound in (5.1) is sharp for the function given by

$$(5.7) \quad f(z) = z / (1 - (2\beta-1)z)^{2\beta(1-\alpha)e^{-i\lambda} \cos \lambda \cdot (2\beta-1)^{-1}}.$$

The bounds in (5.3) are sharp for the functions given by

$$f_n(z) = z / (1 - (2\beta-1)z^{n-1})^{2\beta(1-\alpha)e^{-i\lambda} \cos \lambda \cdot (2\beta-1)^{-1}(n-1)^{-1}},$$

for  $\beta \neq 1/2$ ; whereas for  $\beta = 1/2$ ,

$$f_n(z) = z \exp \{ ((1-\alpha)e^{-i\lambda} \cos \lambda \cdot (n-1)^{-1}) z^{n-1} \}, \quad (n \geq 2).$$

**Remarks.** (i) Taking  $\beta=1$ , we obtain a theorem of Libera [6].

- (ii) By choosing  $\alpha=0$ ,  $\beta=(2-\cos \lambda)/2$  in Theorem 4, we get the result of Goel [2].
- (iii)  $\lambda=0$  leads to the result obtained by Juneja and Mogra [3].
- (iv) Replacing  $\alpha$  by  $(1-\beta+2\alpha\beta)/(1+\beta)$  and  $\beta$  by  $(1+\beta)/2$  in Theorem 4, we obtain the corresponding results of Makowska [7].
- (v) The coefficient estimates determined by Kulshrestha [5], Zamorski [12], Wright [11], and many others can be obtained from Theorem 4 by taking different values of  $\alpha$ ,  $\beta$ , and  $\lambda$ .

### 6. The $\gamma$ -spiral radius

Let  $S$  be the family of all normalized functions which are analytic and univalent in  $E$ . Following Libera [6], if  $f \in S$  and  $\gamma \in (-\pi/2, \pi/2)$ , then  $\gamma$ -spiral radius of  $f$  is

$$(6.1) \quad \gamma\text{-s.r. } \{f\} = \sup \left\{ r: \operatorname{Re} \left( e^{i\gamma} \frac{zf'(z)}{f(z)} \right) > 0, |z| < r \right\};$$

and if  $U \subset S$ , then the  $\gamma$ -spiral radius of  $U$  is

$$(6.2) \quad \gamma\text{-s.r. } U = \inf_{f \in U} \{\gamma\text{-s.r. } \{f\}\}.$$

We now determine the  $\gamma$ -spiral radius of the class  $S^1(\alpha, \beta)$ .

**Theorem 5.**  $\gamma\text{-s.r. } S^1(\alpha, \beta)$  is the smallest positive root  $r$  of the equation

$$(6.3) \quad (2\beta-1)(2\beta(1-\alpha) \cos(\gamma-\lambda) \cdot \cos \lambda - (2\beta-1) \cos \gamma) r^2 - 2\beta(1-\alpha) \cos \lambda \cdot r + \cos \gamma = 0.$$

The result is sharp for the extremal function given in (5.7).

**Proof.** Let  $f \in S^1(\alpha, \beta)$ . Then by Lemma,

$$(6.4) \quad \frac{zf'(z)}{f(z)} = \frac{1 + ((2\beta-1) - 2\beta(1-\alpha)e^{-i\lambda} \cos \lambda)w(z)}{1 + (2\beta-1)w(z)},$$

where  $w(z)$  satisfies the conditions  $w(0)=0$  and  $|w(z)| < 1$ . If  $B(z) = e^{i\gamma} zf'(z)/f(z)$ , then (6.4) may be written

$$w(z) = \frac{e^{i\gamma} - B(z)}{(2\beta-1)B(z) - e^{i\gamma}((2\beta-1) - 2\beta(1-\alpha)e^{-i\lambda} \cos \lambda)}, \quad (z \in E).$$

Now by applying Schwarz's Lemma, it follows that  $B(z)$  maps the disk  $|z| \leq r$  onto a disk  $|B(z) - \eta| < R$ , where

$$\eta = \frac{e^{i\gamma}(1 - (2\beta-1)(2\beta-1 - 2\beta(1-\alpha)e^{-i\lambda} \cos \lambda)r^2)}{1 - (2\beta-1)^2 r^2},$$

and

$$R = \frac{2\beta(1-\alpha) \cos \lambda \cdot r}{1-(2\beta-1)^2 r^2}.$$

Hence  $\operatorname{Re}(e^{i\gamma} z f'(z)/f(z)) \geq 0$  if and only if

$$\operatorname{Re} \left\{ \frac{e^{i\gamma}(1-(2\beta-1)(2\beta-1-2\beta(1-\alpha)e^{-i\lambda} \cos \lambda)r^2)}{1-(2\beta-1)^2 r^2} \right\} \geq \frac{2\beta(1-\alpha) \cos \lambda \cdot r}{1-(2\beta-1)^2 r^2},$$

which, on simplification, and with the aid of (6.2) concludes the proof of the theorem.

By choosing appropriate values of  $\alpha$ ,  $\beta$ ,  $\lambda$  and  $\gamma$  in Theorem 5 we obtain the corresponding results for several subclasses of  $S$ .

**Corollary 6.**  $\gamma$ -s.r.  $F_{\lambda, M}$  is the smallest positive root  $r$  of the equation

$$(M-1)((2M-1) \cos(\gamma-\lambda) \cdot \cos \lambda - (M-1) \cos \gamma)r^2 - (2M-1)M \cos \lambda \cdot r + M^2 \cos \gamma = 0,$$

for  $M > 1/2$ .

Taking  $\alpha=0$  and  $\beta=(2-\cos \lambda)/2$  in Theorem 5, we get the following result.

**Corollary 7.**  $\gamma$ -s.r.  $H(\lambda)$  is the smallest positive root of the equation

$$(1-\cos \lambda)((2-\cos \lambda) \cos(\gamma-\lambda) \cdot \cos \lambda - (1-\cos \lambda) \cos \gamma)r^2 - (2-\cos \lambda) \cos \lambda \cdot r + \cos \gamma = 0.$$

When  $\gamma=0$  in Corollary 7, we get the radius of starlikeness of  $H(\lambda)$  as obtained by Goel [2].

**Remarks.** Different values of the parameters  $\alpha$ ,  $\beta$ ,  $\lambda$ , and  $\gamma$  lead to  $\gamma$ -spiral radius and radius of starlikeness of the classes studied by Robertson [9], Libera [6], Makówka [7], and others.

The authors are thankful to Dr. O. P. Juneja for some helpful suggestions.

### References

- [1] B. Epstein and I. J. Schoenberg: *On a conjecture concerning schlicht functions*, Bull. Amer. Math. Soc. 65 (1959), 273-275.
- [2] R. M. Goel: *A subclass of  $\alpha$ -spiral functions*, Publ. Math. Debrecen, 23 (1976), 79-84.
- [3] O. P. Juneja and M. L. Mogra: *On star-like functions of order  $\alpha$  and type  $\beta$* , Rev. Roum. De Mathem. P. Et. Appl., 23 (1978), 751-765.
- [4] J. Krzyż and Z. Lewandowski: *On the integral of univalent functions*, Bull. Acad. Polon. Sci. Ser. Sci. Math. Astr. Phys., 11, 7 (1963), 447-448.
- [5] P. K. Kulshrestha: *Bounded Robertson functions*, Rend. Mat. VI, Ser. 9 (1976), 137-150.
- [6] R. J. Libera: *Univalent  $\alpha$ -spiral functions*, Can. J. Math., 19 (1967), 449-456.
- [7] B. Makówka: *On some subclasses of univalent functions*, Zesz. Nauk Polit. Lodzkiej nr 254, Z. 9 (1976), 71-76.

- [8] K. S. Padmanabhan: *On certain classes of starlike functions in the unit disk*, J. Indian Math. Soc., 32 (1968), 89-103.
- [9] M. S. Robertson: *Radii of starlikeness and close-to-convexity*, Proc. Amer. Math. Soc., 16 (1965), 847-852.
- [10] L. Spacék: *Příspěvek k teorii funkcki prostých*, Časopis Pěst. Mat. a fys., 62 (1932), 12-19.
- [11] D. J. Wright: *On a class of starlike functions*, Composition Math., 21 (1969), 122-124.
- [12] J. Zamorski: *About the extremal spiral schlicht functions*, Ann. Polon. Math., 9 (1962), 265-273.

School of Mathematical Sciences  
P. O. Box 321  
University of Khartoum,  
Khartoum, Sudan